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Instructions to candidates;

i. This paper consists of ONE sections consisting of MCQs

ii. Attempt all questions.
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       COLLEGE NUMBER…………………………………………………
CIRCLE THE CORRECT ANSWER.

1. Which of these is not true about the composition of the cell membrane?

a) Phospholipids constitute 25%

b) Proteins constitute about 20%

c) Cholesterol constitutes 13%

d) Carbohydrates constitute 3%

2. Integral proteins on the cell membrane:

a) Are loosely attached

b) Transverse the entire cell membrane

c) A and C are both correct.

d) Have no function on the cell membrane

3. Which of these is not true about centrosomes found within the cell?

a) Are cylindrical in shape and arranged at right angles to each other.

b) Are made up of alpha tubulin

c) Are microtubule organizing centers

d) Duplicate themselves when a cell divides.

4. Events during metaphase include all of the following except:

a) Disappearance of the nuclear membrane and the nucleolus

b) Division of each chromosome longitudinally at the kinetochore to form two chromatids.

c) Initiation of the mitotic spindle

d) Attachment of chromatids to microtubules.

5. Events of the G1 phase include all of the following except

a) RNA synthesis

b) Protein synthesis

c) Synthesis and replication of DNA

d) Restoration of cell volume to normal.

6. Which of the following is a key characteristic of connective tissues?

a) Connective tissues are excitable

b) Have elongated polyhedral cells

c) Have abundant extracellular matrix

d) Are found o the lining of body cavities

7. Which of the following is not true about nervous tissues?

a) Afferent neurons are sensory in nature

b) Motor neurons are efferent neurons

c) Multipolar neurons have a single dendrite and many axons.

d) Unipolar neurons have a single process extending from the cell body.

8. Body fluid volumes consist of

a) Extracellular volume

b) Plasma volume

c) Total blood volume

d) All of the above

9. Substances used to measure body fluid compartments include:

a) Polysaccharide inulin

b) Deuterium oxide

c) Tritum oxide

d) All the above

10. The following are buffering systems in the body except:

a) Lungs

b) Kidneys

c) Blood proteins

d) The spleen

11. The principal cause of rigor mortis in dead muscle is 

a) Depletion of adenosine tri-phosphate (ATP) and phosphoryl creatinine (PC) from muscle.

b) Presence of large quantities of Ca2+ ions in sarcoplasm.

c) Accumulation of large amounts of adenosine diphosphate (ADP) in muscle.

d) Accumulation of large quantities of ATP and PC in muscle.

12. Some neurons in the vagus nerve terminate on sinoatrial (pacemaker) cells in the heart. These neurons secrete acetylcholine, which ultimately results in a decreased heart rate. This is an example of:

a) Endocrine control. 
b) Exocrine control.
c)  Hormonal control.
d)  Neural control.
13. The site where most of the ATP is generated in a cell is the

a) Plasma membrane.

b) Endoplasmic reticulum.

c) Golgi apparatus.

d) Mitochondria.

14. The resting membrane potential

a) Occurs only in nerve and muscle cells.

b)  Is the same in all cells

c)   Is oriented so that the cell's interior is positive with respect to the extracellular fluid.

d)  None of the above.

15. during the rising phase of an action potential,

a) Voltage-gated Na+ channels open.

b) Voltage-gated K+ channels open.

c)  Voltage-gated Na+ channels close.

d) Voltage-gated K+ channels close.

16. Which of the following statements concerning the rate of action potential propagation is not- true?

a) It is faster in large-diameter axons than in small-diameter ones.

b) It is faster for a strong stimulus than for a weak one

c)  It is faster in myelinated nerve fibres than in non-myelinated ones.

d) A and C.

17. Thick filaments in skeletal muscle are composed of:

a) Actin.

b) Myosin.

c)  Troponin.

d) Tropomyosin.

18. “Motor unit” refers to:

a) A single motor neuron plus all the muscle fibres it innervates.

b) A single muscle fibre plus all of the motor neurons that innervate it.

c) All of the motor neurons supplying a single muscle.

d) All of the muscles that affect the movement of any given joint.

19. The following are not-true about the autonomic nervous system: 

a) the postganglionic neurons are largely Un-myelinated

b) all preganglionic neurons are cholinergic 

c) the preganglionic neurons of the sympathetic nervous system are   shorter than for the parasympathetic nervous system 

d) the parasympathetic outflow is only found in the cranial nerves 

20. The following statement is not true:

a) the axons convey impulse away from the cell body

b) the condition velocity increases with fiber diameter

c) the excitability is decreased if the extracellular calcium  
    concentration is decreased

d) There is an influx of Na+ and efflux of K+ during depolarization. 

21. In skeletal muscle, calcium facilitates contraction by binding to

a) Tropomyosin-A

b) Actin

c) Troponin-C

d) Myosin

22. The resting membrane potential in a nerve fibre measures:

a. -90mu


c. -70mu

b. -9mu


d. +65mu

23. Which of the following glial cells produce myelin sheath in the central nervous system (CNS)

a. Schwann cells

c. Microflia


b. Astrocytes

d. Oligodendrocytes

24. Which of the following statements is true regarding an action potential in a neuron:

a. It is terminated by K+ efflux

b. It is initiated by Na+ efflux

c. It declines in amplitude as it moves along the axon

d. It is not associated with any net movement of Na+ and K+ across the cell membrane

25. Na+ K+ ATpase is a typical example of:

a. Uniport


c. Antiport

b. Symport

d. Osmotic process

26. One of the following is not a catecholamine:

a. Dopamine

c. Norepinephrine

b. Epinephrine

d. Substance P

27. Acetylcholine receptors found at the neuromuscular junction (NMJ) are called:

a. Alpha receptors

c. Nicotinic receptors

b. Beta receptors

d. Muscarinic receptors

28. The primary force moving water from the blood plasma to the interstitial fluid is:

a. Filtration


c. Active transport

b. Facilitated diffusion

d. Simple diffusion

29. Which of the following processes does not contribute to movements of ions across membranes:

a. Diffusion


c. Donnan effect

b. Non ionic diffusion

d. Dissolution

30. Which of the following is a unit of concentration:

a. Micromole

c. Microgram

b. Dalton


d. Osmolarity
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